[image: image1.png]/. Leng waveo : c, =G, C':.:C:;a.

Concervatom 0f energy ﬁ(:é,

4,C,

C, = //)—161 C, + ”tzzl CL
= /(f‘zél cl +7"Ql£’- c"

/ - ‘1 Ca_ 2 2
6,2, o
/4 —Lrex !+ =
b, C, b,.C,
be Co AC G
_ (/";2 2. <, é'zc,a )6 0 + ¢é;ca_ 4, C +.2£:.C’,,+ ﬁic'b
- do O Abc!.
(r+-557)" (H éC
a C b Cl.
Lo (1ass + 888 yo (2 )? Lo
(/+ 505 (r+-52C éac'») IR
4 C, .) A;C,



[image: image2.png]\4
m
|

~‘£ T J -P7C/2?'a( (Vo cos a'f) At
= £ Prr V.* —J cas“ot dt = ;_—fngza(vo"

A
® %{ R (Wt V) = amk & Cg =anr +P3HFE

L
< &

- R r5EH G
_ P
X ? Vg%
vioy?r = 2RV RVe"

V372 4 *jz A




[image: image3.png]g E(a) P(Hzﬁ) = 7‘7_ e"“("’/ﬁms)

et
W £ = S(pta<h)) = "((1 “(”/"’m)) 24, - lHms)

/‘WS

P 2aHY  —a (H Homs ) 2 —tlH Hpms)
H o( rms 2 +ms;
szé&ﬁﬁ 5 A € olH ) f@He AH
j;,gam /" 204 (W Hrnc)* . '[ He-a(r//ﬂ,,..,yd”
£ " e
tx:{EH/Hrns 0: Hm:) a -’X Hrms 0{ joo x e'xd
% H \_,_ & Hp[Hrms - Hrms Ja Hp//'/m- al
dox= — j o0 Hoom ey - Vo f°° o
-5 e rms o “ X = é(X
@ A [l rec e EHpHyms c
A=)
HevD > ~Z Y
x - L -
{r,m fuvd'(“') g i Hf (t=1)

\HP("‘=’) Frem &3, (2.20) /n text
P (@ (”P)Sur 2ome < (HP)dﬁJ‘/wre (\“ x> /‘0)

For exawmple, (Hl/a)SMf, < (//'/;)'” y

2one

Larger waves bresk fF#<t —> Smaller waves are reformesl 'n sinfear




